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Q1)
To write a function that represents the situation, use the formula for continuous exponential growth.

(i)
A=Pe" Continuous Compounding Formula

=12,750e"0% P =12750, and » = 0.055

(ii)
A=12,750¢"%"*  Original function
=12,750¢"0550) ;=9
=20,916.35 Simplify.
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Q2)

(i)

y= ae ™~ 0-021661 Formula for the decay of the racdhoactive substance
= 5¢0-02166(100) g=5and¢=100
=5¢2-166 Simplify.
~0.57 Use a calculator.

About 0.57 g of the radioactive substance should be Ieft after 100 years.

(i)
y= ae ¥ Formula for continous exponential decay
y= ge— o Formula for the decay of Carbon — 14, where £ =0.00012
0.05a =ae %0012 =0 054
0.05 = ¢~ 0001 Divide cach side by a.

In 0.05 = In ¢ ~%-00012 Property of Equality for Logarithmic Equations
In0.05=-0.00012tr Ine'=x

In 0.05 R ‘ o
—-0.00012 -3 Divide each side by —0.00012.
24,964~ Use a calculator.

A fossil that has lost 95% of its Carbon-14 is about 24,964 years old.
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Q3)
Step 1 Find the zeros.

Seta(x)=0
I +8=0

, 8

o= —-—

There is no zero since there is no real number that is

the square root of a negative number.

Step 2 Find the asymptotes. 25y
Find the vertical asymptote. Set b(x) = 0. 2x—1)3x* +0x +8
2 =120 ()3 - Jx
N\ 1 ix +8
2 23 3
Step 3 Draw the graph. e ey
Graph the asymptotes. Then make a table of values, —Si
and graph. 4
TN
—6 ~-8.9
-4 =—6.2
-3 -5
2 4
0 -8
| 11
7
4 8
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Q4 a.319.4 is 20 below the mean which means 2.5% of the data is below 319.4.

b. 361.1 is 1o above the mean which means 2.5 + 13.5 or 16% of the data is greater than 361.1.

c.Therangeis 3055 < x < 3889

Q5)

Make a table of values of the formula 7'= 42 + 30 sin %I.

a. The highest monthly temperature for the city i1s 72°F

b. The highest monthly temperature of 72°F occurs in the 3rd month
The 3rd month of the year is March.

¢. The lowest monthly temperature for the city is 12°F.

d. The lowest monthly temperature of 12°F occurs
in the 9th month. The 9th month of the year
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iS Seplﬂrnbe’r' T'=42+ 30 sin .

42 430 sin %{u] -42

42 + 30 sin
42+ 30 sin

42 +30 sin

42 %30 sin

42 + 30 sin

42 4 30 sin

42 + 30 sin

42 4+ 30 sin

42+ 30 sin

g
(=57
(3( )
—2{2]351’13

— =7

T~

m =
5 (5)=57

?’T(n] =42

L
6{71 27

Tig=16

w -
?{'m 12

42+ 30 sin ?’r[m]asm

42+ 30 sin ?"’[nlzz?

42+ 30 sin

T 9= 42
6[1-| 42




: e Iy ) 651 aladli 5 jlac Al 4 y2e
Al Aoyt : iy R 5 A AE ) (2) 48 ) A y2e

L i | B (- ST (Lo Balall ¢y 9) 33k laial

AV YOY Y E JN ol yal) Juadl)

PART -B (MCQ)

1)A
2)D
A
4)C
5)B
6)C
7)A
3)B
9) A

10)A
11)C
12)C
13)B
14)B
15)A
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